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Exercise 1 Write if the following statements are "true” or “false”. Justify briefly your answer, or give

a counterexample.

1. If A and B are symmetric matrices, then A+ B is symmetric, l we .
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2. If A is symmetric and A # O, then A is invertible, . ?4 e
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3. If AB = O, then either A or B is the matriz O,
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4. If A2 =1, then A is invertible, T;_mﬂ . I’L Cﬂ -1 (ﬁ
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5. If A, B are invertible matrices, then BA is an invertible matriz, | zue

[T L AT | R

6. If A € Mp(R), B € R™ with B # 0, and if X and X' satisfy AX = B and AX' = B, then
(X + X') satisfies the same equation,
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7. If A is diagonal and if B is an arbitrary matriz, then the product AB is diagonal, Tc,;. ema_
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8. There exists an invertible matriz A such that A~! = (} %) “-FQ - " tnee Lﬂ -1
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9. Ewery matrices can be expressed as the product of elementary matrices, F&L e
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10. (33%) z.s an orthogonal matriz. [;u e e aouwe ( 1 ) = (4 1 ’
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